
economy study (in one dimension) 

for piano, prepared piano, and/or glasses 
 
 
 
preferred tuning: 

    pitch-class c d e f
#
 g  a b

b	
  

           cents-deviation 0 +4 -14 -49 +2 -59 -31 

octave-equivalent harmonic  1 9 5 11 3 13 7 
 
 
 
any subsets of notes can be prepared or replaced by distinct glasses (played with sticks or chopsticks).  

play 10 minutes or more starting from any measure. 
 
 
 
fast; 
clear; 
not loud. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

michael winter (la, 2013) 
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